a3 A E

A R R A

P

g




1. ROBWNIZE 7RI,
1) =7—125HE LA I,

2 49V , . s
(2>7X<—2_0> EERELRIV,
@21 251 s s,

@) 7ax(—3a)? ZEE LRI,

G)V2 +5—+/8 +4 ZEHEL LRI,

6) (V2 —/3) EEHELAZIW,

(M (x+T)x—T7) ZFHELRIWV,

(8)dax—8ay &R AL LI,

(9)9a®—b* ERBAFEL R X\,

10) —spmt Lao Lo Lo emans,
3 4 12
[x=—5y+15
ayErsER]
22+3y=2

(12) ZRAER 342 —8x4+2=0 ZEX X\,



2. ROBNZEZ X\,
1) 1 EESANDEEDEEMN Acm , 2FETANDEFEDEEN Bem ,3EESADEED
EEMNCem DL X, 1 FENS 3EEFTEDLEALLEDEEDEE Z RO IV,

2) HEEE IM[/LTOFNAEULXE LDBUIZTZMAT 2B LB EZELW,

(3) AL 25D DEEMNH V) FRHIMNTED & X HRDIEZ KDL I,

@) IR (x+5):7=(x—1):4 IZDWT x DfEZ KDL X,

(5) B IZHE D ZIF NI VBRI E NI T, ZDEREHIEHDELIZLZY, [AxH
THIEEORD 2 X0,

(6) FEE 2 3[R > TRAZMEEVIEIH SR Z KDL I,

7 111 T2) 131 T4)] MEMINSZHT— DD, I— REMEATIHTOREEED L
X, ZOBREMEBIZ L DHERERD &,

8) ROET Lx DREX BRDE I,

65°
120°
135°




3.AXAL BXANERKIZY S auz2&IT5, AXARRITAEYI20DBE%2 a,BXA
DRTF/-H 1 I0DER2 b2 TE, ZDOLXROBERERDLZI WV,
(1) a+ b DIEM3IDIEEN 72 BHER

2) a+b DIEAIOLLEIZ 2 B HER
8L oo sk

() al—f:b PES 7 7 B TR

4. g y=x2 LEHLN2EH A, BTRHO-oTWS, HA,BD x BIEEZNEN —3,2 L F 5,

/i A BBY 2 BUCETRER m LEURORED S, HATROEESC LT3,
ROFPNMNIEZZRXD,
(1) & A, BOEEERDEI, y
@) B L ORE KD I,

A C m
(3) A ABC OEEZRDE X, !

| B

-3 O 2 X

0




5. NABCTAB% 1:11IZIAA7T5H% M,BC% 1:1IIARTE HRzEZ N5, MND
JEREIZMN=ND L7258 D 2t%, TaDiEBIRMAR AMDC 3 EATIHAIIZ %
5L ZFEALAZEDTY, GEADZERMZED CEEAZER IR I W,

B
Gz

AR, MBDC (28T

BN= (NiZ BC DHH)

=ND (R=E)

o THARMNZENT D TRhBDT
AR, MBDC 134T HLF,

£oT

BMy[ (=) | (4O MBDC®xt338) O

BM= (7 MBDC D#$H8) @

BM= (M3 ABDHE) -0
UEXVIHAER AMDC IZEWT
3SHAMBIZ—ERLEIZHZOTOLY]_F) _/CD @
@@®&Y AM= w®

@&y | (&) | TZOEINZELVLDT
| &)) | FPFEIRE RS,




1) 2)
(3) 4)
(5) (6)
(7) (8)
) (10)
(11) (12)
(1) (2)
(3) 4)
(5) (6)
(7) (8)
1) 2)
(3) 4)
(1)
2)
(3)
(7) (1)
() (T)
() (77)
(%) ()
) ()




| -8 @ -4

3| = @ | 63a°

® | —v2 49 6 | 5-26

7)) | x*—49 @) | 4da(x—2y)
@) | (3a+b)3a—b) 10| x=9

)| x=—5, y=4 12)| x= 4J—f3¢w
) 5A +;é3+8c om @ 20

3) | 15 4| x=9

5| 3 6) %

m| 3 ® | 100

o| 4 2| <

®| 2 w| 2

0| A(-3,9),Be,4)

@) | y=—x+6

@] 15

(7)) CN (1) MN

()] #HR ()] €D

()] CD ()| AM

(%) AM (AB&) ()| ¢D

()| VORI EAT (2)| WA AMDC

2} Bl(r)(a) —>&3R

Bl(7)~(7) —&2=




	index
	exam2021_math
	R3年度入試問題(数学)
	R3年度入試問題(数学)解答欄
	R3年度入試問題(数学)模範解答


